029-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

PURCHASE ORDER as of Fri Jul 05 06:14:53 UTC 2024

Contract ID 358517633744	Contract Ref	
Order Number	Issue Date	Version
0008003972	2024-06-26	20240627070245

E INDUS L FARIDY L INDIA E Region R C MOL C N ROOM 2 S 88 Com 2	onsolidati 2406-07, 2- tainer Port ong, Kowlo	OT NC 008 ion Se 4/Fl.,] , Kwai		——] ——] Gain Plaza	2 SU GNEE PAG	eattle, WA, NITED STA	S, Suite 400 98134 TES auer LLC S, Suite 400 98134		- - -		N R 1111 S O SAN O K UNIT O E Cont S R W UNIT N NO.3 U BAN F INDL	Bayhill Bruno, FED ST/ act: Pat F 12 - S 37/1B / 4 GALOR	I Drive CA, 9 ATES tricia I HAHI 43/2,	Nacion EXPORT 43/3	S PVT LTE	
D A T					` ∟	_			-		U R					
		ive, B		_							E R					
Incoterm					Partial S	Shipments P	er Window			Tr	ransshipm	ents				
		/ADR	AS), TAMIL NA	ADU, INDIA			Allowed							No		
Payment Tern		Docun	nents Presenta	ation	Shippin	g Mode	SEA			B	usiness C	ode		0001		
Business Cod					Last Re	vision Date	02/1			S	Supplier Co	ode				
	EB F	RETAIL	L - USA				2024-06-27	<u> </u>					1	00000004	10	
Department MEN	IS PERFO	RMAN	NCE SPORTS\	WR	Order Ty	/pe Code	RETL			fa	actoryCode	е	1	00000026	3	
domesticveno	lor				Canadia	an DC Closu	•			is	Unified					
Domostic Von	dor	Fals	е		Λ	ina Cada	false				'hin man a mat \	Min alour		true		
Domestic Ver	idoi	Fals	е		Account	ing Code	000M02450)		0	Shipment V		025-0	1-04 / 202	5-01-04	
Shipment Me	thod	Ocea	an		Country	Of Origin	INDIA			Fi	reight Pay	Metho	d	Collect -		
Line #		В	uyer Item #		Shor	t Description	า		Quant	ity			Unit F	Price (USI	D)	Cost (USD)
0001		-	29-1666		_	LS M			2,053					5.67*		11,640.51
						MHEAGRA			_,							,
Item Status			OPEN			Destination			GXO Warehous	se						
Ship Window S	Start Date		2025-01-04			Ship Window E			2025-01-04							
Color			149		Е	Buyer's Style #	!		11550882							
	Size Code	Size	UPC#	SKU	#	Ticket Type	Qty Per Inner P	ack	PO Retail Price	Ite	em Qty		Unit	Unit Cost	Cost	
	0040	S-	197806517099	EB02916660	01490040	G		001	55.00		Item Qty	154	-	5.67	873.18	
								_			ent Method	-	_			
	0050	M-	197806599224	EB02016660	01/00050	G		001	55.00		Retail Price Item Qty	55.00 540	-	5.67	3,061.80	
		IVI	197000399224	LB02910000	01490030	9	<u> </u>	001	33.00	Shinme	ent Method	-	-	3.07	3,001.00	
										-	Retail Price	55.00	-			
	0060	L-	197806044502	EB02916660	01490060	G		001	55.00		Item Qty	716		5.67	4,059.72	
										Shipme	ent Method	Ocean	İ			
										F	Retail Price	55.00				
	0070	XL-	197806606618	EB02916660	01490070	G		001	55.00		Item Qty	455		5.67	2,579.85	
										-	ent Method	-	-			
		VVI	407000077040	ED00040000	04.400000			004	FF.00	F	Retail Price	55.00	-	F 07	1.005.00	
	0800	XXL-	197806077913	EB02916660	u1490080	G		001	55.00	Chinn	Item Qty	188 Ocean	-	5.67	1,065.96	
			<u> </u>					-		-	ent Method Retail Price	55.00	-			
									Total	- '		2,053	-		11,640.51	
0002		U.	29-1666		MR	LS M	IN TREK		1,576	6		1		5.67*		8,935.92
						BLUE			.,51							-,::0:02

029-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

PURCHASE ORDER as of Fri Jul 05 06:14:53 UTC 2024

Contract ID 358517633744	Contract Ref		
Order Number	Issue Date	Version	
0008003972	2024-06-26	20240627070245	

Line #		Bu	uyer Item # Short Description					Quantity					Unit Price (USD)			
tem Status		OPEN			De	stination			GXO Warehouse							
hip Window S	Start Date		2025-01-04		Sh	ip Window E	nd Date		2025-01-04							
olor			300		Bu	yer's Style #			11550882							
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost		
	0040	S-	197806401718	EB0291666003	000040	G		001	55.00	Item Qty	118		5.67	669.06		
										Shipment Method	Ocean					
										Retail Price	55.00					
	0050	M-	197806268779	EB0291666003	000050	G		001	55.00	Item Qty	415		5.67	2,353.05		
										Shipment Method	Ocean					
										Retail Price	55.00					
	0060	L-	197806257872	EB0291666003	000060	G		001	55.00	Item Qty	550		5.67	3,118.50		
										Shipment Method	Ocean					
										Retail Price	55.00					
	0070	XL-	197806497278	EB0291666003	000070	G		001	55.00	Item Qty	349		5.67	1,978.83		
										Shipment Method						
										Retail Price	55.00					
	0800	XXL-	197806857546	EB0291666003	080000	G		001	55.00	Item Qty	144		5.67	816.48		
										Shipment Method	-					
										Retail Price	55.00					
									Total		1,576			8,935.92		
003	029-1666 MR LS MTN TREK 904 5.67* TEE:OCHRE									5,125.6						
					TEE:O	CHKE										
em Status			OPEN			stination			GXO Warehouse							
	Start Date		OPEN 2025-01-04		De		nd Date		GXO Warehouse 2025-01-04							
Ship Window S	Start Date				De Sh	stination	nd Date									
Ship Window S	Start Date Size Code	Size	2025-01-04	SKU#	De Sh	stination ip Window Ei	nd Date Qty Per Inner		2025-01-04 11550882	Item Qty		Unit	Unit Cost	Cost		
Ship Window S		Size S-	2025-01-04 610	SKU#	De Sh Bu	stination ip Window Er			2025-01-04 11550882		68	Unit	Unit Cost 5.67	Cost 385.56		
Ship Window S	Size Code		2025-01-04 610 UPC #	SKU#	De Sh Bu	stination ip Window En yer's Style #		Pack	2025-01-04 11550882 PO Retail Price	Item Qty		Unit				
Ship Window S	Size Code		2025-01-04 610 UPC #	SKU#	De Sh Bu	stination ip Window En yer's Style #		Pack	2025-01-04 11550882 PO Retail Price	Item Qty Item Qty		Unit				
hip Window S	Size Code		2025-01-04 610 UPC #	SKU#	De Sh Bu 100040	stination ip Window En yer's Style #		Pack	2025-01-04 11550882 PO Retail Price	Item Qty Item Qty Shipment Method	Ocean	Unit				
hip Window S	Size Code 0040	S-	2025-01-04 610 <i>UPC</i> # 197806791741	SKU# EB0291666006	De Sh Bu 100040	stination ip Window En yer's Style # Ticket Type G		Pack 001	2025-01-04 11550882 PO Retail Price 55.00	Item Qty Item Qty Shipment Method Retail Price	Ocean 55.00	Unit	5.67	385.56		
hip Window S	Size Code 0040	S-	2025-01-04 610 <i>UPC</i> # 197806791741	SKU# EB0291666006	De Sh Bu 100040	stination ip Window En yer's Style # Ticket Type G		Pack 001	2025-01-04 11550882 PO Retail Price 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty	Ocean 55.00 238	Unit	5.67	385.56		
Ship Window S	Size Code 0040	S-	2025-01-04 610 <i>UPC</i> # 197806791741	SKU# EB0291666006	De Sh Bu 100040	stination ip Window En yer's Style # Ticket Type G		Pack 001	2025-01-04 11550882 PO Retail Price 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 55.00 238 Ocean	Unit	5.67	385.56		
Ship Window S	Size Code 0040 0050	S-	2025-01-04 610 <i>UPC #</i> 197806791741 197806584473	SKU# EB0291666006 EB0291666006	De Sh Bu 100040	stination ip Window Er yer's Style # Ticket Type G		Pack 001 001	2025-01-04 11550882 PO Retail Price 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 55.00 238 Ocean 55.00 315	Unit	5.67	385.56		
Ship Window S	Size Code 0040 0050	S-	2025-01-04 610 <i>UPC #</i> 197806791741 197806584473	SKU# EB0291666006 EB0291666006	De Sh Bu 100040	stination ip Window Er yer's Style # Ticket Type G		Pack 001 001	2025-01-04 11550882 PO Retail Price 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty	Ocean 55.00 238 Ocean 55.00 315	Unit	5.67	385.56		
Ship Window S	Size Code 0040 0050	S-	2025-01-04 610 <i>UPC #</i> 197806791741 197806584473	SKU# EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060	stination ip Window Er yer's Style # Ticket Type G		Pack 001 001	2025-01-04 11550882 PO Retail Price 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 55.00 238 Ocean 55.00 315 Ocean	Unit	5.67 5.67 5.67	385.56		
Ship Window S	Size Code 0040 0050	S-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491	SKU# EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060	stination ip Window Er ip G G G G		001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00	Unit	5.67 5.67 5.67	385.56 1,349.46 1,786.05		
Ship Window S	Size Code 0040 0050	S-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491	SKU# EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060	stination ip Window Er ip G G G G		001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Item Qty	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200	Unit	5.67 5.67 5.67	385.56 1,349.46 1,786.05		
Ship Window S	Size Code 0040 0050 0060	S- M- L-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100070	stination ip Window Er ip G G G G		001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean	Unit	5.67 5.67 5.67	385.56 1,349.46 1,786.05		
Ship Window S	Size Code 0040 0050 0060	S- M- L-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491 197806304149	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100070	stination ip Window En in Window En ip Window En in Window En ip Window En in Windo		Pack 001 001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean 55.00 83	Unit	5.67 5.67 5.67	1,349.46 1,786.05		
Ship Window S	Size Code 0040 0050 0060	S- M- L-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491 197806304149	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100070	stination ip Window En in Window En ip Window En in Window En ip Window En in Windo		Pack 001 001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean 55.00 83	Unit	5.67 5.67 5.67	1,349.46 1,786.05		
Ship Window S	Size Code 0040 0050 0060	S- M- L-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491 197806304149	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100070	stination ip Window En in Window En ip Window En in Window En ip Window En in Windo		Pack 001 001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean 55.00 83 Ocean	Unit	5.67 5.67 5.67	1,349.46 1,786.05		
Ship Window S	Size Code 0040 0050 0060	M- L- XL-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491 197806304149	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100080 M T	stination ip Window Er iper's Style # Ticket Type G G G		Pack 001 001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean 55.00 83 Ocean 55.00		5.67 5.67 5.67	1,349.46 1,786.05 1,134.00	1,844.5	
Ship Window S Color	Size Code 0040 0050 0060	M- L- XL-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491 197806304149 197806925665	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100080 MT TEE:M	stination ip Window En pyer's Style # Ticket Type G G G G G G G G	Qty Per Inner	Pack 001 001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00 55.00 55.00 Total	Item Qty Item Qty Shipment Method Retail Price	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean 55.00 83 Ocean 55.00		5.67 5.67 5.67 5.67	1,349.46 1,786.05 1,134.00	1,844.5	
Item Status Ship Window S Color	Size Code	M- L- XL-	2025-01-04 610 <i>UPC</i> # 197806791741 197806584473 197806700491 197806304149 197806925665	SKU # EB0291666006 EB0291666006 EB0291666006	De Sh Bu 100040 100050 100060 100080 MT TEE:M	stination ip Window En ip er's Style # Ticket Type G G G G G H G G H H H H H H H H H H H	Qty Per Inner	001 001 001 001	2025-01-04 11550882 PO Retail Price 55.00 55.00 55.00	Item Qty Item Qty Shipment Method Retail Price	Ocean 55.00 238 Ocean 55.00 315 Ocean 55.00 200 Ocean 55.00 83 Ocean 55.00		5.67 5.67 5.67 5.67	1,349.46 1,786.05 1,134.00	1,844.5	

029-Eddie Bauer LLC

2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

PURCHASE ORDER as of Fri Jul 05 06:14:53 UTC 2024

Contract ID 358517633744	Contract Ref	
Order Number	Issue Date	Version
0008003972	2024-06-26	20240627070245

Line #	ne # Buyer Item #			Short Description					Quantity	Unit Price (USD)				Cost (USE	
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner I	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0060	L-	197806811630	EB0291720001	490060	G		001	55.00	Item Qty	167	T	5.95	993.65	
										Shipment Method	Ocean				
								Ì		Retail Price	55.00	İ			
	0070	XL-	197806533525	EB0291720001	490070	G		001	55.00	Item Qty	143		5.95	850.85	
										Shipment Method	Ocean				
										Retail Price	55.00				
									Total		310			1,844.50	
0005		02	9-1720		MT LS	MTN TREK	TEE:BLUE		238				5.95*		1,416.1
Item Status			OPEN		De	stination			GXO Warehouse						
Ship Window S	Start Date		2025-01-04		Sh	ip Window En	d Date		2025-01-04						
Color			300		Bu	yer's Style #			11550882						
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner I	Pack	PO Retail Price	Item Qty	Τ	Unit	Unit Cost	Cost	
	0060	L-	197806527050	EB0291720003	8000060	G		001	55.00	Item Qty	/ 128		5.95	761.60	
								Ì		Shipment Method	Ocean	İ			
										Retail Price	55.00				
	0070	XL-	197806239113	EB0291720003	8000070	G		001	55.00	Item Qty	/ 110		5.95	654.50	
										Shipment Method	Ocean				
										Retail Price	55.00				
									Total		238			1,416.10	
0006		02	9-1720		M T TEE:O	LS MTI CHRE	N TREK		136				5.95*		809.20
Item Status			OPEN		De	stination			GXO Warehouse						
Ship Window S	Start Date		2025-01-04		Sh	ip Window En	d Date		2025-01-04						
Color			610		Bu	yer's Style #			11550882						
	Size Cod	e Siz	e UPC#	SKU	#	Ticket Type	e Qty Per Inne	r Paci	k PO Retail Price	e Item Qty		Uı	nit Unit Cos	t Cost	
	006) L	- 19780636163	0 EB02917200	0610006) G	5	001	55.00) Item C	Qty 7	'3	5.9	434.35	
							<u> </u>			Shipment Meth	od Ocea	ın	1	\top	
		Ť	İ	İ		İ	İ		İ	Retail Pri	ce 55.0	00	İ	T	
	007) XL	19780686370	7 EB02917200	0610007) G	5	001	55.00) Item C	Qty 6	3	5.9	374.85	
										Shipment Meth	od Ocea	ın	Ì		
										Retail Pri	ce 55.0	00			
									Tota	1	13	86		809.20	

* Represents Subline Average

Totals

29,771.91	Merchandise Amount
0.00	Total Adjustment
0.00	Total Taxes
29,771.91	Order Total

Required Documents

Commercial Invoice

Transport Manifest - completed by Consolidator (LSP).

Goods Receipt

Document, Packing Slip, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

Document, Certificate of Origin, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, FCR for Ocean Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Airway Bill of Lading for Air Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Importer General Conformity Assessment Certificate, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

029-Eddie Bauer LLC

2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10 PURCHASE ORDER as of Fri Jul 05 06:14:53 UTC 2024

Contract ID 358517633744	Contract Ref	
Order Number	Issue Date	Version
0008003972	2024-06-26	20240627070245

Additional Terms

Seller will be required to certify that it has obtained all applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, and other documentation to permit the exportation of the merchandise from the country from which the merchandise will be shipped in compliance with all applicable laws and regulations of the country of exportation. Seller also certifies that it or its designated agent will obtain and provide all of the applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, other documentation, and information required to permit importation of the merchandise into the destination country in compliance with all applicable laws and regulations in the importing country.

(Acknowledgement required on each invoice)

Seller

(Acknowledgement required on each invoice)

All Orders are subject to the terms of the executed vendor agreement, which may include certain discounts. All discounts agreed to will be referenced on the commercial invoice and reflect a certain percentage discount off of Product Price for Products tendered to Eddie Bauer LLC or the Eddie Bauer LLC licensees.

(Acknowledgement required on each invoice)